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NOTAPUOMUYECKUX YPABHEHUN,
HEPABEHCTB, CUCTEM -
(nomMawHaAA camocToATeNnbHas pa6oTa)

BapuaHT 1 BapuaHTt 2
(1)

Peumrure ypaBHeHus, HCTIOMB3YST
YKa3aHHbIE CIIOCOOLI:

— npeo0pa3oBaHHE U MOTEHIUPOBA-
HHe ypaBHEHHUI:

a) log, log, log,(x —5) = a) log, log, log g(x+1) =
=log,2-1; gt
6) 1g(8" +x-12) = x1g 30 - «; 6) 1g(2" +x-9) = x - xlg5;

B) log, log, x +log, log, x = 2; B)_ 2log, log, x + ;
: +log, log2(2«/§x) =1
2

— BBeJeHHe HOBOU mepeMeHHOIi:

r) logi(2-x)-log,(x - 2)% + r) log),(1-x)-log,(x —1)* +
+3log, |x -2/ = 2; +log, s |x -1 = 2
1) lg(10%) - 1g(0, 1x) = m) log,(tx)-log,(4x) =
=lgx® - 3; =log, x* - 1;
e) log,, . (2ctg x) + e) log,, sinx +
+log,,, . (2tgx) = 2; +log,,, cosx = 2;
#) log, x* —14log,,, x* + ) 5log, x+log, x* +
+40log, Vx = 0; +8log, , &’ =2
— BBeaeHue mapamerpa:
3) * log2 x + (x —1)log, x = 3) * (x+1)log)x +
=6-2x; ' +4xlog, x—-16 = 0;

u) * lg(x® + x) = log, x. u) * log,(1+x) = log,, x.
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Pemure HepaBeHCTBA:

2+ x

x+4

log,3-2" -1) | o
x

a) log,; log, < 0;

6)

2-4log, x+log? x 1 .
<=

X

B) X

I‘) (2x + 3 . 2—: )Zlog2 x—log,(x+6) > 1;
n) log, ,(x* —8x +15) > 0;

e) log, log,(3* -9)<1;

x) ylog,(8x® —4x +2) >
> log,(8x* —4x +2)-1;

3) * 16—0,5+logf x + ll. > xl°gz‘/;
16

(3]

gy — 3,
a)
xy = 6;

Pemure cucreMsr:

1

V1000’
1

—lg x = -6;
Yy

y

6)

log, (xy) =log, x%,
y2logyx - 4y _ 3.

2 -_—
a) ].Og% logs—x;—jé]; < O,

6 — X1
log,(9-3*)-38

2 - -
B) xlg x-2lg x-1 < xZ;

’

I‘) (4 3 3x + 3—x )Zloga(x-l)—loga(Zxﬂ) > 1;
r) log,, . (x* —x)>1;

e) log_log,(4* -12)<1;

&) |1 +log,(7x" +14x +8) <

<1+logg(7Tx® +14x + 8);
3) * (V3)2'HE* _1,5 < xlom

ylog5 x _ 64,
xy = 500;

y* =100,

6)
lMy=Q&
X

x
log, = =log, 7,
By 'Y

x2Y — By 4.




